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Candidates should go through the "INSTRUCTIONS FOR CANDIDATES” attached with the answer book
before commencement of the exam.
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2. Total ‘rnarks are 150 and he time is 3 hours.
2. o 3F 150 & 3w ag @&g 3 ¢ B
3. If any candidate has answered the questions in excess of the required number of guestions, the marks
awarded against the requisite number of questions Attempted first will be included in the Total Marks
Obtained and rest will be ignored. ) )
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4. Candidate shall not write his name, Roll No., or signature or any other identification mark anywhere
inside the Answer Sheet and Extra Sheet except on the sheet at the space provided.
4. ﬁmmﬁwmwwaﬂzﬁmmmmmﬂwmﬁmﬁ%aﬁmmﬁﬁ
e, I FEAIER AT HS HeT UgT e Awl @l
5. Questions can be answered in English or Hindi. In case of discrepancy n Hindi*guestion, English
version shall be followed.
5. 3iarsh o R O wesl @ e feAr S wedr gl ﬁ@@m%ﬁwaa#ﬂﬁ,mwwwm
ST
6. Ensure signature of Invigilator/Officer in-charge on the answer book and also on the extra sheet, if
any. .
6. mgﬁaﬂma@m{a@ﬁmﬁ%mmmyﬁﬁ?ﬂ%ﬁtmmmagﬁfﬁmﬁl
7. Partial correct answer, cutting, overwriting, multiple answers or correction will make the answer
invalid for allotment of marks in the objective type of question.
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8. Bags/Books/Notes/Mobile phone/Calculator etc. are not allowed in the examination hall.
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Part-A  All questions are compulsory. Total Marks 50
seT-T gel wee AfAard. T 37 50
Q.1 | (A) Write full form/expansion of following 5
(1) Pt 5 & 9 B / e o
(i) MCCB (i) wadrHre
(ii) SARC (i) wHTIRE
(i) vcu (i) @rEry
(iv) GPS (iv) srdres
(v) DFCCIL (v) SrowEE s v
Q.1 | (B)Match the pairs (&) H Ey 5
(a) Largest urban population i) Gujrat }
(v) T S Aredr S ) e
(b) One of the largest forest area i) Kerala \ J
| () v s e A i) o
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) WhICh don metal temains liquid i roam l*:\i\‘k““‘-”““\'\

) SR BRTRERRIR IR AR N RS TR

i) channeal formuala tor Salphaeie Acid

i) NORNU SN RERE SR IRTRIRERE 2

i) AWhan an ron nail gets tusted, what is the affect on its w olght?

i) SRR AR A) WS, Y S N AT SRR R

iv) Who is the suprome commandar of Armed forces in India?

vy ARG N WA A A gl aotisy el 3 o

v) Amplitude of sound is measured in o {unit).

v) A AN ey s N 21 .

vi) I simmear Olympic 2006, how many medals did India win?

1) MDA R 2 N g D RIS IRE I R ‘ p—

vil) Universal (blood) donor group B

WD AR Q) e weg . - o s |

viii) Nangoos are artificially m\on;\d by using S

VI ana iy awy Q) Wl \w‘hu W DRI “l

iN) |‘|mtmv bress of Reserve Bank of India (for printing notes) in the

stte of Mabarashtrais in o = {1

ix) SRNININER IR NCA TR Rt *?‘“‘n (m? A S W RN 5 R
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NI Animal feeding (eating) on both plant and animal food is called
\ii)
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Niii) Indm a\tc‘\:tﬁ train G, G
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drugs (cytotoxia) is calied ‘ N =il
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Xvii)  One Jthe.'conditions nec
transformer is '

XVii) mk%m%#ﬁﬁrmawwﬁﬁw

essary’ for parallel operation. of |-

S
xviii)  Ferrites are used for making transformers.
Xviil)  ORIgew F 39U ;Tmsrﬁ:aamé:ﬁv%mmm
Xix)

Speed of Ships usually measured in terms of
Xix) - SE Y oY sk o H A S

XX) _'*fhe first sea bridge for Railway purpose is known as

bridge :
' XX) Qﬂ‘q‘gajaw%%mqmaﬁé’rga BT & @ & s s g N
T XXi) Power generated from falling or running water is called__
Xxi) AR g agyy mﬁrﬁmﬁaﬁﬁ_mm%r
o Xxii)  Name two of the Indian states where a

ssembly elections were
concluded recently,

Xxii) Hawmwmiaﬁﬁmﬂwmﬁ#mg
|

Xxiii)  Semi conductor devices

are mostly made from (name of
the substance).

| Xxiii) ¥ Fswer Raww wemerr (Terd 1 A ¥ w Ay
XXiv)  CEO(Chief Executive Officer) of Microsoft is

—

XXiv) W%M(ﬁwwamﬁ)wml
XXv)  Loss angle or dissipation factor testi i

—_—

fii) Green House effect (”) 3 3l
iv) Use of soar therma| energy (!”) T F5 o
V) Working of leag acid battery W) 3wk amirg
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. Select correct option/cho’ice (write 0
aﬁmmmwaﬁ(awm%@)?’/”
(i) " In modern escalator, which motor 15 used? - ‘
i WWWWT{T o7 fenar STl B _
i ' A , (c) 3-@ induction motor

(a) 1- Induction motor, (b) DC shunt motor
&) gaasd AL

(d) Universal Motor, (e) none of the above,
(@) 1.0 S T, () S 9T AT (7)) 39
us motor works as___

(i) Over excited synchrono
(i) 3 R AT ¥ 29 F74 Sl ©
(c) Shunt reactor,

(a) Capacitor, (b) Resistance,

g‘ga:?f?—f‘ﬂ’li?[

(d) a;.1y of the above, (e)

100 3%

[ 2each]

A

None of these. :
(v) FuR, (@) resistance, (€ 2T AU, 1) sqgEa & § 5 A,
(i)  The insulation resistance of the 20 km long underground cable is 8 M(.

Other things being same, the insulationresistance of 10 km long cable

will be.
() 20 B &4 sfEoa e o1 gegaee Sw e MO §l 3T ot /A g dr

m%ﬁﬁﬁmﬁsﬁmmmﬁwm
(a) 8 MQ, (b)4MQ, (c) 16MQ, (d)32MQ (e) None of these
(@ eMQ, (@) aMO, (@) 16M0D, (E) 32MQ () 5 & FS Al

(iv) ;&eag—loo V voltmeter has a guaranteed accuracy of 2% of full scale
ing. The voltage measured by the voltmeter is 75V. The limiting

'V) Y 0'1006 al(*Z#lE? Z. qu] ‘ja:l ;i 'CH 2 o h 3( fia@]a g al ; a ("E ial;‘a qq
o / >
J ] 3 5

(a) 3.33%, (b) 2.66%, (c)29
o g0 %, (d) 1%.
(%) 333%, (@) 2.66%, (&) 2% (&) 1%i(6(%Nongc§'these |

(v)  Which system is al
so known a i
. W as automa;c conFrol system?
(a) open loop control Syste e ‘
(5}, (4) ne m, (b) closed | i
(t'?l neither (a) nor (b), (e) None of th =
e e ese
i ;"“; TR somd, @) dz w o o
1TTQTE @ gt 4 g
" W 3]
o a;g;:hesg sets of logic gatejﬁ ;
e A3ty g i are designated as unj
(a) NOR, NAND, (b} %5 @R & wy ﬁUmversal gates?
. NO \ T S & '

NAND,XNOR, (e}
! ' None of th ¥ f c
(2) NOR, NAND, ) g 1o <) OR, NOT, AND, (4) o

P control system, (c) Both (a) &

(a) Pesitive
thESE ’ Z )

_ er
() Positive, ) gy, © (d) may pe e
lve, or

(€) 50t & v ey r\'ﬂ')gﬂtﬁ) _

(b) Negatiye, (c)

Ve, (e) None of

NAND,XNOR, §) st o ’R, IEOR, NAND
[ Vi) Inthe pure sinuspj FIE gy ¢ c) OR, NOT AND
VI Y Arerateey H’?;'?ij}wave form the D + (d) NOR,
gy % c tompp
Oew: %7 nent VOItagEj .
S?




Vili) The resultant value of 3 resis tarices of value 3,6, 5 Ohms in parallel is !
. ; . . |
M) T 5 =3 2,6, 9 3077 w3 3 oo f:‘?‘:’:rm: ol 7| i
(3) 2 chrns, (8) 6 of imns, (<) 2ohms, (d) 9 oh mis, (e) Horw of these 1'
| 3HEHE, (@) ey, (F) 2w (# 1) 3 A, rr, ZHAN W J:‘.. ,
, ——t i VTS CSTOT e e
17) In 2 f/:'rid 1ral conductor r,,-frﬂ g alternating current, the: current
density
V) OF SEHETEN FEwel §oanas Heeden o uae _ Erm R
(3a) Is uniform throughout the cross section, l'rs) Decreazses exponentially from |
i ' surface towards inside, (¢) Increases exponentially from surface towar
. inside, (d)is concentrated only at centre, (o) Hone of these ,
) |
(W) 97 350001 & 7o, () mAw 7 st £ avw e FH 3eT T
| - v ) = -
| TTF TG g3, (3) Fww el =J,'.,%3ff EiGi 5) zrA
%) In @ capacitor if the ares of plates is doub I:- J,t 1% C a-r-:rnanr el
| 4 s Fuifis & ofy oot @y gy ZWIAT BT 300 8,5 #1AE &
2) double, (b) rernain same, (c) hecome half,
n

(d) vill becorne four times,

|
| ©) eI, (dn) ad, (HT) 34y, (Z1) = T, (%) =4/ | =% vf-.u ‘

| (e) None of these
|
|
|

)
) Explain functioning of either Thyrister with characteristic curve or transistor |
s z2n zmplifier,

(VT ETF=T & fadgar =4 % amy ar 2ifyey v :

A . .
TFIHIBIAY  FY H FT o

H UEaT FeEErd II
(ii) Draw a well labelled sketch of oil c_oarr_?dﬁsvformer shc)wirTrj m_r@f_pa_;i o
and brief information about it, :
(il) &7 5 22 zigoiT =1 == ZAT, 5 fafimar ferat 3t =3 o & i ‘
S a2 |

| Q.2 | (i) Calculate “I” in the follo'.r:iriu circuit. Since calculator is not : allowed the I o

values of magnitude and phas

e angle of impedance and current can be written
in eguztion form.

() F=fafea afe & 9 HT AU BT _Jr”-b 3:»{1-'4?’3 2ot *1-:7"{1;‘ el ¥ o
TRHNT ST T He aur 3w B s & g H ﬁ:rm ST Hepar &

i
=~

: & 10 CL 8.0
200 /0

S C———

| (i) Find Voltage drop across cach Resistor,

(i) vz Ao 91 eesst gia &1 s
e
4 4 0. V,= cay 61—
Viz 200V

6. 8.0

w

|




Q.4

Bridpe, IFRx% is Vil

(H)) 1 the piven Wheatstone

o, what would be
from 3 ohms ta 1,01 ohme, T

W AT
Lhe reading in Ammeter AT
I aleelt Sy el
(i) fau oo efeteta Tl N, Aty Rx a3 ohims
\ b . LN
el vy e i @

Hied/chanped by small amount [ =

iv) Find 2,0 and Rin terms of A, B and C. )
) e it dieat a o, Ay ol e @l
|
Wrile short notes on any FOUR of (he followinfg- Ly - 7?6ach
raiaa A Qo) ae ge gifare feeaul) ford
(i) HVDC transmission, (i) wer &y €y 4y weror) e
(i) Corona effoct, (i) @ WHFI‘TH D
(iii) Armature reaction. (jij) 3ferg 'y;'ii]ia_;llfj — T
(?v) 2 watl meter method of measuring 3 f')lidSE? ';-)_07\7/\)@71*. o - ]
(v) i arbre o) as oy 2 Mex ffe
(v) Difference hotween o LOF. spm T I —
(V) dmaey, Qe V\:'( (IH.L.O-MI“L“)" >emi conductor and insulator.
(vi) w L|{-' SNPSTL 3N R & e
or ' S . = e
A .‘:,éllﬁf':,[}Ifll”_(’, fan, advantages of BLDC. N e
{vii) .(‘I ‘ Jk{ R gy oy W |
ANCCKS Lo be carriag oul before ramo :
. lore issiomn D e —
station and making anoliear: Commissioning of 33kV/415V sub
king app|
(Vil) 3205 1 4744 34 %';e‘ o ']CJUOH MG [ con.
7e CRT B ARy 2 MNT &8
A Eer BT ) ey ey b ST ‘irfﬂf‘pﬁn' FNgHRYy &
(viii) l'mv;f r [t: n-‘w W S ey R&191 sy T
rlactor in ac cireuit ﬁnd T e e it
T i aNAIts sjpnif How oo —— |
_bL IMproved? Gnificance, How power factor can
vl vy e g W Y oy gy
i) How ONVOr AC 17— 0o T Sy 3 .
(.}__ o dD V_O” CONVErLAC 1¢5 ¢4 AC 3 K-ﬁ,_i’r_n_lﬁ {iﬁ[{ ’rar gy Wehar ¥
3 (_l){_{ﬁul ¥ A 3y AC .10“.0/\(_3(0 Yo ' prlﬂlﬂ Circuit i ‘___*————IE]‘
En; f:lx;)Imn briefly Rheoslaﬁii‘t_:‘ﬁwtn_EITé' " ety T B TSIy
i) am 3 S 4T Her 3 o M
R , ST I A s raking of —
(i) Compare a¢ lraction n@t&%ﬁjﬂq ﬁmﬁﬁ?{ "\‘é r-DC Sfunt motor. &
(i) uwely dYur, A il"i‘ur ;ﬁ?‘f}tl'aclion aﬁaaﬁléggl‘t-——%_.l ey ey Gy
T IR A ety o ractio -
_(”l__,wl}raw Simplifiad /o, olﬁr‘niur P TS gy b 10
——Pled/eqqiyqiom SO Y
N —Valent C‘Ircuit —““———w—__
of 1¢ inductio
—=9N  motor




‘} phasor/vector diagram (on load).

| e ——— T R T o e, VU A W A . -
| {ii) 10 SzsUs Wy Al S BOR/AET (U OY) 3T & \_Tat-ﬂtf—\-[/;an—q‘&w it &7

tT‘ﬂ"}'.

17

1 {i} Reasons mz umr mm fa 'Iur es a nd .1ow it can be avoided.
(1‘ ““\1 WET vt s KHAY T & Tar @ QT'_HT el

10

t il S
1 (u) Lompau unandLs 't lamp CFL and LED.
{l \“) \-"h‘\n,‘l ﬂ\i\ \\I\v_t\*l ‘1|\ Uw‘ :s ﬂ‘] Eq‘“ ak¥|

——

10

| 1) t\mam star-delta \tamnw of mmmtlon motor. What are the advantages
over Direct on line (DOL) starter?

() F590F AT OF &3 F DY wrder ®iEy @ ant womer wsnst smi?a
| 3w S (@50E) wRT @ JERT A TEE W w87

10

- (i) Explain with help of suitable diagram, }\elvm s double bridge method of
measuring small resistance.

(u)smgﬁ—-r IR N Aeg ¥, I AR oA &g %«‘f%?m% zww foor fofer
JTHST!

10

(1) Electric Shock treatment

e
(l) mm\m U AR

(ii) Underground cable laying procedure and its disadvantages.
(II) 5:.\(-'-1? [y “;“Gﬁ I-.‘:x}i:'; 'Q'ET Mled] Sﬁ"\" 5\-1%1 :j,,qvtﬂﬂl

(iii) Optic fibre communication and its application on Railways.
(iii) it west §9R 3R 99 @ U 399

(iv) Five areas where Drone technology can be beneficially/gainfully used in
Railways.

(iv) &= § & o &5 gl 3= Q'T?.?II ST ST Y R ST ogsar B
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Total Marks 150 el 3i# 150
Paper — I quy - I

1. Candidates should go through the “INSTRUCTIONS FOR CANDIDATES” attached wilh the answer book
before commencement of the exam.
Lol o) udlan e @ QU S Qi @3 Meard A e @dae & sera A awEn kel

2. Total marks are 1!:0 and he time is 3 Imm\».

2. Wl 3 150 woalle ag g 3w

3. I any candidate has answered the questions In exces:
awarded against the requisite number of questions Atl
Obtained and rest will be ignored, )

3. af Bl o) aeofear &) anaws dear Aol & AR ued wr s foarr {f, @ 3waean dwAr & e ¥
chmv\ o ae i uEd e e waRl @ el Jier a1 e fean Srenr A Ac Y 3ERET @ faar siwwan|

R()II Na., or signature or any other ide ptification mark anywhere

provided.
Wil R argsn s, AW

; of the required number of queslions, the marks
cmpled first will be included in the Total Marks

4. Camllch\le shall not wrile his name,
inside the Answer Sheel and Extra Sheel exc v|)t on the sheel al the space

4. selleant ekt e me waen g Me al @l 3a3 w3l AT w3l
S, A7 EEAT Ar S e vgant el o

5. Questions can be answered in English or Hindi. In case of discrepancy n Hindi qm stion,

version shall be followed.

Jal ar R Y et aw 3ax Rar o aar B RGNy e [ weer A e 5, 3l weon @i ardat i

snual

6. Ensure signature of Invigilator/Officer in-charge on the answer book and also on the extra sheet, if
any.

6. 3T iEddr W JnfsaRaATOED vl A gt 300 3N Me w3 @ @, gt w8

7. Partial correct answer, culling, overwriling, multiple answers or correction will make the answer
invalic for allotment of marks in the objective type of question.

7. 3i@F G 3ax, wreay, MaRgior, vt 3ud an Y, 3eded & awr & war i A 3maest v fae 3R

English

W

30 Y {."'H'|
8. ag.;/B()(Jk‘)/NOL(“;/M()DI|l phone/Calculator ete, are nol allowed in Lthe examination hall.
8. gdiam er 7 daygrerdsae A wtlicdey et B 3w AT Al

Part-| Total Marks 50
HaT- U el 316 50
Note: - Answer any FIVE of the following. Each question carries equal (10) marks

ale: - Frwr oF @ el ot wier @ 3w &1 W et aTal (10) i HT ¥

Q1 Paymcm of Wag,cs s Act, 1936, a 10
| ae aifafeer, 1936 | S

Q2 | Workmen compensation Act. o 110
_____ Hfovr spamaan et e

Q3 Egﬁlain procedure for stock verification. | 10
| ¥ gearer dy v faad S )

Q4 | Write short notes on any Four of the following. o 2.5
e forfataa a1 O e o R HT—IL‘T mqm ﬁc‘n S earh
e (A) Z Aero Based budget - {L') o wmaid aee B



g1 Tadidl 1 ifEa ﬁﬁ‘r& \rx\

(b e e I
| | (B) Lir ﬂlﬁ'—‘d Tenders in StRtes (i) rhges L 4{4‘4'?!?1“__17_“\ \i
| .‘ii((?)“—(:s I(ii are Leave f_'fl} “H-ﬂ“rf‘f ‘Hn‘Jd{i _______ — \\;
—— e —
| (D) PNM nm*li*“’ (&) #¥ qead \;
i—| (E) Arbitration (1| ey st .dr!'”ﬁ' 3{? 5@ éﬁ"ﬂ [
—— - . \ v e e ' F
| [ (F)  Operating ratio and how 1o 1o ””H
e 71
| | () Tadfiente ese e (cﬁﬁﬁ) [
IP T [ (G) Privilege Ticket Oreder (11 J —‘ﬁ\l‘o\
I‘_“Q.S 7i Law Book and Pink Book |
r e cae i . —
| S AR R g \\1\65
Q.6 | Demand No. 16 various Plan Heads .
‘ HT Fwar 16 4 Rt wap ek 19 o — |
B ETS : tanning: Stall (Al categornies) 10
Q.7 How o calculate requirement ol Running e
. 3 s ) oo B (et A -
W worw &) anta wea B 1 issible ¥
pE— arep ':(fril%lm\
Q.8 | Whatis meant by subsistonce allowance? What deductions are pr 10

‘ 2nsion treated und
subsistence allowance? How does the period of suspension ated under |

different circumstances? '
7 % BT TRE -
ST E S N 8 ey arr Q@ aan weldr i 3aTa £ Fees oRTeefEaT A

g SOT FTFW ' 1
. G ‘
HoER S MEE &) S @ Sid .: | I

Q.5 | General conditions of contract and special conditions of contract. | 10]
HEEY ST EEew O U Ay o) I

=

r—
El

Part-li ~ PROFESSIONAL SUBJECT 100 Marks
CICIEALT o) SATTHIR—S ey 10035
Note: - Question 1 is compulsory. Solve any FOUR from the rest
Jre: - m;zam——qasﬁ"?wﬁ?fﬁma‘rmﬁj

B.l { Fill in the blanks f=g wumr o%)

| 20]
. - ‘ !
(i) Maximum standard OHE span js Mis. |
(i) 39T I A Wiwen Y (ﬁru) o Fer | |
(i) Normally OHE masts aro Mt nlemari— F |
(ii) 34137 cn( 9T 39 3R an ey o .[.\_.‘ i N | ‘
O\ SEST BigT B ‘
(iii) SS ropv i treatod with ol ==
(i) waew w5 B Qal W “' N |
—_— v W B !
(iv) BDV of nev, transformer o « should he Minimumy "JTLJ
I ( v) WT\N ar ard AT & 4 -?[uh|.l| AN LU G S .
(v) New type ofmmpm,,”, ed i AR 1o BT ARl _Ji_—/%
(v) 311'(0?%#:( JT 57“11”(.,' hm A s .
(vi) ONAN stand for _ ) - = ¢ ——
Vi) 3 wer v vy gy o 5
vii) T T g
( n) The lmnsformc reore s Iclrnin dled) fo . =
(vii) ST i el qed g
T - WA Ry oy E—
(viii) Tesirng, load af 57 AT sy q) R l
viii Al |y e e
(. J -—-—E:n—f[ T diéy SEFET ) 'lhmﬂl LI — K.
(ix)  17Ton Offtfllu_'ldllnn R
(i) 1w sy - e My S——
I (x) Full form of HHU is 18 KT _,l J
(X} é-&H'( AR ‘-*T ) lr“ }'I - E——— =
| (xi) COln{J!ESthﬂH Used [y ——
L0 & : TP |
| ”'lil-h 0 HF !i\“] i = _',‘_(___‘______ g

NSRS RS |
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(1) AU N
HRAPIF Yoo .
(=) {he — . ML
fap hotweon " (3
| vowheel aned brake block in Fiay snould pe
l)(il) Loy NI -
. : Ve AN sl e g e AT TR
((x”.')) I ACEMU pear & pindon ratio e, i e e
Xty wahh Svary fnog =
4 ) bl B !'nl 1"‘1'11”"1 allt )
(xiv) As per SMET2T, Permissil Iﬂ !JI‘”'I' : =0 ner oif is ||
Laaky TErMise e limit for flash point of transformer oif is |
¢ (minimum), '
(xiv)  vawannd 4 T i . { |
3120 S, SRt Ae b wder aize & Ao Grdde e |
ANNG (@ 2alctit) 1 |
{xv) QOP Relay is used lor the protection apainst o - |
(xv) e A s & orer & v A Fm 2| E
(xvi) Transformer rating ol WAGY loco it o _. ._ |
(XVI)  WAGY elenl bt gt e —_'?“_ B |
(xvii)  Caution indicator board is providt:rj o ]  meter before | '

the cautious driving area and spr:f:r-i |an;31—f)_r_
~meter before the cautious driving area.

(xvil) Seuaa s @8 waneiyds gefan a7 3 gwd Hex
gy R S Al wranside g e @ g = g g

e gy e SIrr el

board is provided '

(xviii)
{xviii)

Temperature rise limit for Class “C” insulation is
0 eS| M= 1 _ﬁ'{m & farw e gefa Her

degree C.

-4

AL
alf Hicaud ol

1 hour rﬁé of Hitachi Traction motor is kW.

Reame damT aey & 1 wer War __ _ fremEe &l

(xix)
(xix)

O (xx) The_symbol of Motor Armature is
(xx)  weT e @ udiE {

Q2

Write short notes on any FOUR of the following
S=faf@a 2090 A fasl 8l =t @« wiferea feeqelT ford|

(A) Rolling Stock Programme (RSP)
(A) DT wia e (3mea)

(8) Measurement Book (MB)
(B) AT JEIR (waTell)

(C) Maintenance of Escalators and Dos and Don’ts during use.
(C) veEFoie @ TEe 3fiv 3UEWr & e (Do's 3T Don'ts) HIFET Pl

(D) Composite insulators
(D) &wFaifaT ggeed

(E) Role of tender committee in stores matters.

(E)@Tmﬁfﬁﬁﬂﬂﬁ?ﬁfﬁﬁ‘rqﬁtﬁl

- (F) Accident Relief Train

“(F) e e 3

Q.3

Write short notes on any FOUR of the following

20 |

(A) STt

(A)VCD
(B) wseeguH

(B) AWS . |
(C) Lightening (C)aTeefaer 3RER HR A= wEE|

maintenance.

arresters  and their

D) w3l Forelt

(D)HOG system

s s R w—



. - ——
(E) Fire preventive measuras i

coaches. —

I ——

(F)3  pulley type ATD
maintenance. - '

Q4

(i) Reasons for Pantograph Entanglement.

(i) 4w 3F% & FHOI ioning of AC Traction (in

. S fi il commiss
(i) Steps in Railway Electrification work in field ti

brief).

i #F gFs|
(ii)ﬁ@mggmﬁmwﬁmnﬁm

Q.5

i tional locomotives.
(i) Write about protective relays provided in TS5 OR Conven

10

; P gael
(i)mmmmmﬂﬁaﬁamémqyﬁrﬁﬁé:aﬁﬁ

. i OR EMU including
(i) Draw 2 well labelled pneumatic circuit of conventlonal_Loco _

brake system. 5
(ii) WRwTT S a7 §ueg F FHCF
3T & i ord)

aﬁﬁﬁ_@m%mﬁﬁw'ﬂé’m

10

Q.6

 liohti i i s and
(i) Different ratings of alternators used for Train Lighting on '”?“an Railway

the common type of failures.

(i)mmwam$mmmmmmmqﬁm
TT 3 QI B 9 Rwear & e & wfeea A o

(ii) Reasons for SPAD and prevention measures.

ii) T3 & SRT 3R ey & I97|

ifi} Procedure for testing brake continuity in air brake train.

iv) What are the most common reasons for air leakage in train & AC loco.
V) g & v S & arg R & 3 R F4r §
OR '
(iv)Use of Oliver-G for maintenance of OHE.
(iv) 3ves & wawaE & v Aifderst & sagm

(
(
(i) vax 5% o7 & 3= Adaar gderor $r gfkan
(
(

Q.7

(A) Explain with suitable sketch functioning of any one of the f

_ ollowing
(mﬁmﬁﬁamﬁﬁﬁqﬁw%mﬁmﬁm%m

HAHATY|

10

(i) GR (tap changer) in conventional loco.
(i) TRET AH H S (F oRads)

(ii) Electronic Rectifier cum Regulator Unit (ERRU)

(i) s m@m@mmq}l

(iii) 2x25kV Auto transformer feed system

“(iif) 2x25kV 3TeT grEwTay dre Rreea|
(B) Procedure for POH of Tracti

on transformer (

testing thereafter. TRD) OR Loco transformer and

Q.8

T T 33y

(0 Procedure for changing Cab n comyznigra o TS R A e
0cCo.

10

(i) Functioning of split type ajr conditioner

(ii)mﬁama&mmm#

iii) 1 i !
(iif) mportance of earthing of electrical -
/stones in substations, NStallations 3ng rea

(iii) ez wfaswett & 3 30ns for use of ballast

(iv) Maintenance of o
(iv) wiw 3T o7 gy

%Wﬂmmwé _
Oss over QHE. mﬁr% $m¢m|




